PAY BACK METHOD

Pay back period is the length of time required to recover the initial investment through income generated from the project.
Example

Net cash flow for two mutually exclusive investment proposals involving invest of Rs 10,000 
	Year
	Investment
	Cash flow of  Proposal

	
	
	A
	B

	0
	10000
	-
	-

	1
	
	5000
	1000

	2
	
	4000
	1500

	3
	
	3000
	2000

	4
	
	2500
	2500

	5
	
	2000
	3000

	6
	
	1500
	4000

	7
	
	1000
	5000


Pay back period for proposal A is 2 1/3 years and proposal B is 5 years. Investment decision, therefore, would go in favour of project A
Advantages:

( Easy to operate and simple to understand

(Best suited where the project has shorter gestation period and project cost is less

(Suited for high risk category projects which are prone to rapid technological changes

(It enables entrepreneur to select an investment which yields quick return of funds
Disadvantages:

(It emphasizes more on liquidity rather than profitability

(Does not cover earnings beyond the pay back period which may result in wrong selection of investment projects

(Suitable only for small projects requiring less investment and time

(The method ignores the cost of capital which is very important factor in making sound investment decision.
BENEFIT COST RATIO

Is the ratio of discounted value of all benefits to the discounted value of all the costs at a chosen discount rate k.
Project selected if BCR > 1

Project rejected if BCR < 1

No effect whether project selected or rejected if BCR = 1

NET PRESENT VALUE (NPV)ETHOD

Based on the concept of time value of money. It is the sum of the aggregate present values of all the cash flows-positive as well as negative- that are expected to occur over the operating life of the project.
In this method present value of expected net cash flows of investment is determined by discounting the net receipts  at a predetermined rate and subtracting from it the present value of investment outlay on the project

NPV is the present value of the project’s expected future net Cash flows (or other net benefits) and represents the real worth of the project to the enterprise at a given discount rate and a set of cash flow assumptions.

For private sector the net cash flows are discounted at the cost of capital. For public sector investments it is the social discount rate. At present it is 12 %

Example

NPV of the cash flows of the two proposal 

	Year
	
	Cash flow of proposal
	
	PV of cash flow

	
	Capital cost
	A
	B
	Discount factor  @12 %
	A
	B

	0
	10,000
	-
	-
	1.0000
	
	

	1
	
	5000
	1000
	0.8926
	4463.00
	892.60

	2
	
	4000
	1500
	0.7972
	3188.80
	1195.80

	3
	
	3000
	2000
	0.7119
	2135.70
	1423.80

	4
	
	2500
	2500
	0.6355
	1588.80
	1588.80

	5
	
	2000
	3000
	0.5674
	1134.80
	1702.20

	6
	
	1500
	4000
	0.5066
	759.90
	2026.40

	7
	
	1000
	5000
	0.4523
	452.30
	2261.50

	Total
	
	19000
	19000
	
	13723.30
	11091.10


NPV of project A = 3723.30

NPV of project B = 1091.10

Project  A is selected
Advantages:

(Is a scientific method of evaluating the project since takes in to account time value of money.

(Covers the whole project from start to finish

(Indicates all future flows in todays value. This makes  possible comparison between two mutually exclusive projects

(Takes in to account the objective of maximum profitability

Disadvantages:

(Difficult method to calculate and use

(Biased towards short run projects

(Profitability is not linked to capital employed

(Does not consider non-financial data like the marketability of a product

INTERNAL RATE OF RETURN (IRR) METHOD

It is that interest or discount rate which equates the present value of inflows (benefits) of the project to the present value of outflows (Capital, replacement cost, WC, OM etc) i.e. it is the discount rate that makes it NPV equal to zero. It can be accomplished through trial and error method.
IRR indicates the capacity of the project to generate benefit/income

The project gets selected if the IRR > k (the cost of the capital or the social discount rate also known as the ‘hurdle rate’ mandated for all projects by the company/government). If a selection is to be made between two mutually exclusive proposals the one which gives higher IRR gets selected.
Advantages:

(Considers the profitability of the project for its entire economic life and hence enables evaluation of true profitability.

(It recognizes the time value of money and considers cash flows over entire life of the project.

(Provides for uniform ranking of various proposals due to the percentage rate of return.

Disadvantages:

(Difficult to compute manually

(Does not measure the return on investment

(Based upon the assumption that the earnings are reinvested at the Internal Rate of Return for the remaining life of the project.

